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1 f@K KER 43 42 85 12.4 72.6
2 i AEz 46 45 91 18.4 72.6
3 FiER 44 44 88 14.8 73.2
4 fEFHFE 44 47 91| 17.2 73.8
5 KRB 40 41 81 6.4 74.6
6 RESS 48 44 92| 17.2 74.8
7 RSHEEGL 46 45 91 16.0 75.0
8 A& Ak 43 46 89 13.6 75.4
9 HEPIE & 43 46 89 13.6 75.4
10 HEES 38 43 81 5.2 75.8
11 EAKRE 39 41 80 4.0 76.0
12 ARF 40 40 80 4.0 76.0
13 fREEH 47 45 92| 16.0 76.0
14 8 5y 44 40 84 7.6 76.4
15 —fEiE 51 49 100 23.2 76.8
16 BEARER 48 50 98 20.8 77.2
17 kHFHH 44 46 90 12.4 77.6
18 KHHE— 45 56 101 23.2 77.8
19 Bilim% 49 55 104 25.6 78.4
20 FHWHY 47 50 97 18.4 78.6
21 HRIGIEZE 48 55 103 24.4 78.6
22 %R 43 47 90 11.2 78.8
23 MEETHL 48 54 102 23.2 78.8
24 HEATEEF] 47 47 94 14.8 79.2
25 fEAREM 47 52 99 19.6 79.4
26 IR 48 53 101 20.8 80.2
27 ILWNIZ L 52 51 | 103 22.0 81.0
28 WEAR R — 50 50 100 18.4 81.6
29 KA 53 44 | 97| 14.8 82.2
30 HGLHi = 54 49 103 20.8 82.2
31 METRE 58 50 108 25.6 82.4
32 i H e 49 60 | 109 24.4 84.6
33 [ EpIE 58 63 121 35.2 85.8
34 FEATNEE 54 64 118 29.2 88.8
35 AKEET 58 66 124 30.4 93.6
36 fEHHBLT 69 60 129 35.2 93.8




